DATE
”

DRAWN BY

DESIGNED BY

TRACED BY

QUANTITIES BY
CHECKED BY

PLAN

ORIGINAL SURVEY PLOTTED BY

NOTE BOOK

No.

PLOT TIME:  04-23-13, 1:54 PM)

DRAWING NAME:  C: \PROJECTS\KAHULUI-2011\PLANS\26—~GUARDRAIL DETAILS\B1.DWG

7 7/8”

=

fase

/

11/16” 4 1/2”  11/16” N
o Y
N N
& s
L | S
St LT T 11/16% Hore N
~ \ / FE—==03 > ~
~— T— - —_ —
sl ) :
S | v
R 2
o B '\
||
1 7/8" 1.3/8” ! !
s L Ll
e yp.
JOP SIDE

Strong Post
(PWEDT)
(PWEOZ)

RECYCLED PLASTIC BLOCKOUT (TYPE 1)

S

Exploded View

(Rail and washer not shown)

\

/

/N

Offset Block or Blockout

{' FBBO3 guardrail bolt

/ with recessed nut

AN

Type Il ir IV Retroreflective

SIEEL POST AND BLOCK DETAIL

Reflector Marker (RM-5) — Reflector
Facing Traffic (Mounted on Guardrail Bolt)

Sheeting (High Intensity);
Color of Retroreflective
Sheeting shall conform to
the color of the adjacent
edge line.

Slot 11/16” X 2”

T <

REFLECTOR MARKER (RM—5) DETAIL AND TYPICAL INSTALLATION

Galvanized Steel
(1/8 ” Min. Thickness)

74”

—

7 7/8"

All exterior

7/4» \ 4//411&
1 /16"
6" N

10°

o~ 3/47 hole

corners <

1/2 7 radius
RECYCLED POLYETHYLENE

OFFSET BLOCK (TYPE i)

Guardrail —=
A ’
[} O h
S
Ii @]

PLAN

Offset Block or Blockout

Guardrail Post

Fill/seal around post

(See Note No. 6)

A\ .

TOTAL
SHEETS

FED. AID
PROJ. NO.

FISCAL
YEAR

SHEET
NO.

FED. ROAD

DIST. NO. STATE

HAWAII HAW.

NH-0360(10) | 2013 |ADD. 107} 166

GENERAL NOTES

All hardware, posts and fasteners shall be hot—dip zinc
coated galvanized after fabrication. No punching, drilling
or cutting will be permitted after galvanizing.

Where conditions require, special post lengths in increments
of 6 inches may be specified.

All fasteners, posts, and rail elements (i.e. FBBO3, PWEOI,
RWMOZb, etc. ) shall conform to the latest edition and
amendments of 'A Guide to Standardized Highway Barrier

Rail Hardware”, a report prepared and approved by the
AASHTO-AGC—-ARTBA Joint Cooperative Committee, Subcommittee
On New Highway Materials, Task Force 13 Report. Dimensions
of fastners, posts and rail elements have been converted from
metric units into their present form.

The Recycled Plastic Block or Offset Block shall be approved
by the State.

- All new guardrail systems (system consists of total length of

guardrail including both end treatments) shall include the
Additional Paved Area.

After the quardrail posts are installed in the paved areaq,

the Contractor shall fill/seal around each quardrail post

and all cracks in the paved area caused during the gquardrail
post installation. If required by the /'nspecfor/gng/heer, the
Contractor shall tamper the paved area around the gquardrail
post prior to filling/sealing. All costs associated with this
work shall not be paid for separately, but shall be considered
incidental to the various gquardrail items.

When standards for the fill slope area cannot be met, a site
specific, engineer approved design may be used.

New A.C. pavement at quardrails shall extend 6 feet longi—
tudinally beyond terminal ends.

e.s. /A /\ 9. Reflector Markers (RM—5) mounted on quardrails shall be
Paved Shoulder| Additional Paved Area* spaced every 25 feet. RM-5s shall not be installed on
Terminal Sections.  Furnishing and installing of each RM-5
y) Ak shall be considered incidental to the adjacent quardrail system.
a l GUARDRAIL TYPE DIMENSION
| 2'-0" Min. , . z 'A ”
— = = Crade & Compact Strong Post w/W Beam 1-9 58" 1'-6"| A\
< at Nmf/ A/(/ea . Strong Post Rubrail 2-0"| 1’-6"
(See Note No. 7) Modified Thrie Beam 2-0"| 2’-0"
Ny Guardrail —
Post
Slope , Break Point
| Con't 1.0
i = — ! __r { 7N ™OR'UNDER MY SUPERVISION. "
’\ ] - . 72;{}\& &Q’M APRIL 30, 2014
) - PR Fill S ope FUUNAGA\& ASSOGATES, INC.  LIC. EXP. DATE
Pav't I 172" Min. 2:1 Max. =
Design — ] AC. Pavi, Parabolic  } ~ DEPARTMENT OF TRANSPORTATION
A Mix No. IV Round/ng - HIGHWAYS DIVISION
’ ' ' . Existing
Prior to /ﬁStO////’)g AC. Mix. No. /V, Ground GUARDRAIL DETAILS $ NOTES

level & remove vegetation and compact
existing ground to 95% compaction.

[YPICAL GUARDRAIL INSTALLATION

ELEVAIION

AN
ZAN

4-12-13
4-12-13

Delete Graphic Scale
Revise Per Latest DOT Guardrail Details

KAHULUI AIRPORT
ACCESS ROAD, PHASE I
Federal Aid Project No. NH-0380(10)

DATE

Scale: None Date: February 2013
SHEETNo. Bl OF SHEETS

ADD. 107

REVISION




PLOT TIME:  04-23-13, 1:52 PM)

DATE

SURVEY PLOTTED BY

DRAWN BY

TRACED BY
DESIGNED BY
QUANTITIES BY
CHECKED BY

PLAN

ORIGINAL
NOTE BOOK

No.

DRAWING NAME:  C: \PROJECTS\KAHULUI-2011\PLANS\26—GUARDRAIL DETAILS\B2.DWG

. FED. ROAD STATE FED. AID FISCAL SHEET TOTAL
g Offset Block or Blockout . 5 /7 6" _ DIST. NO. PROJ. NO. YEAR NO. | SHEETS
Guardrail — NOTE: }«L} = = 7/32" 5/8" nawar | waw. [ NH-0380010) | 2013 |ADD. 108] 166
PWEOT All Holes are Wbx8.5 — | |
| y ] 3/4 " Dia. Structural F © / ﬁ\ ?Q
/\ < &,[ 1= Shape L NERE S
ANIES Tl | T o s o T ~
S 0|7 5/8” 5 7/8" 57/8 : LS 1 3/8”
' DESIGNATOR L
: . TIr9 FBBO1 1 3/8”
PLAN o FBBO2 2"
: e FBBO3 10"
rUMOZa \ — Offset Block or Blockout -~ PWEOT O
- S 1" Dia. x 1/16"
g //;-—CB;B%ZO#S 3 S Mod. Heavy Recess both /
0 s g + Hex Nut —\ sides
| BBO3 6 o] = ] —
S / W i
@ 5 Ground 3 A Ground , 3 )
> N Line é Line 1 1/4 11/16
- PWEOT —— o — -
Ground ol R ALL GUARDRAIL BOLTS AND
L/'ne 4 4 /4 7T
— , R RECESSED NUT
/ M)
6,——5” 6’__5”
SIDE FRONT ¢ Rail bolt hole ¢ Rail bolt hole
8-—(5507 FBBOZ
ELEVATION W—-BEAM STRONG POST (PWEO1) | Splice Bolts /Mo |
i
SIRONG POST W-BEAM GUARDRAIL S T ) ] ]
| RWBO1a Lap in direction —
p in direction
(SGR04a) N /~ Ground Line of traffic
1/16” 3 1/4” .
2 1/4" u PWEOT B B
. ‘ ” 6)—3”
© R4 ELEVATION
N——
0 NC—L 10°+71°
RN '\§\ ® ® SIRONG POST W-BEAM GUARDRAIL WITH
©
X 550 N : RECYCLED OFFSET BLOCK OR PLASTIC BLOCKOUT PROESSORAL
é § 51‘5 /j\ 15 / 16 'P (l‘yp) { 53 @ / @ / / / / @ @ ENGINEER
4\,\,3‘ (ylg A A % 7 No. 8843—C
—],, : ~—15/16'R () Q| = 4 o o o ,
” b LQ \/
¢ 3/4" x 2 1/2"— « \
Post Bolt Slot N Gy D = ® 14 149 & AN T 8
(o) ” 0
j 8 R 55 AA \Q-Qh APRIL 30, 2014
_ / %/ | @ @ @ @ FURNAGA\& ASSOCIATES, INC.  LC. EXP. DATE
) STATE OF HAWATT
| 77/\;5‘7@ 29/32%1 1/6” | 2°| 4 /47| 4 1/47
T(O,'o,+5) ot (bp.) s | STRONG POST
- W-BEAM GUARDRAIL
oesiouAToR | EASE METAL 136 1/2 | /A\ |4-12-13| Delete Graphic Scale P
RWMO2 12 G — 19— —lJp—
a auge A 4-12-13| Delete Back—Up—Plate ACCESS ROAD, PHASE I
4-12-13| Revise Per Latest DOT Guardrail Detail Federal Aid Project No. NH-0380(10)
2 SPACE W—-BEAM GUARDRAIL ( R WMOZCJ) A cvise or Lotest DOT Suardral Detals Scale: None . Date: February 2013
DATE REVISION SHEET No. B2 OF SHEETS

ADD. 108







DATE

SURVEY PLOTTED BY

DRAWN BY

QUANTITIES BY

DESIGNED BY
CHECKED BY

TRACED BY

ORIGINAL
PLAN
NOTE BOOK

No.

PLOT TIME:  04-23-13, 1:55 PM)

DRAWING NAME:  C:\PROJECTS\KAHULUI-2011\PLANS\26-GUARDRAIL DETAILS\B4.DWG

FED. ROAD FED. AID FISCAL SHEET TOTAL

” i < = STATE
RWMOZa — Offset Block or Blockout 4 5/16 T 7527 © 5/8” DIST. NO. PROJ. NO. YEAR NO. | SHEETs
-\ NOTE: WEE5 i ‘ S HAWAI waw. | NH-0380010) | 2013 |ADD. 110} 166
601 All Holes are 3/4 " Dia ' N A P
- e Structural ©
Spce Bots N S I (o)
D:P:‘:EP:I - % < ] T
== iE » N\ ”
5 7/8 ” ) L o 1 3/8
FBBO3 ﬁ 2 ij/g 3/4
DESIGNATOR L
L © i i FBBO1 1 3/8"
E{, o ‘0 FBB0Z 27
i ] FBBOS 10"
~— PWEOZ o
- 1" Dia. x 1/16"
“ Mod. Heavy Recess both
Ground *QI S oo Hex Nut sides
g - ole for \ / \
TN i o N T W W-Beam ~ )
v / i 1'0 T Rubrail i ; =
Ground 3 3 Ground ” )
Line Line 117_/4 11/16
ELEVATION — - Y| I
— s alw GUARDRAIL BOLTS AND
SIRONG POST RUBRAIL = T 4K
3 RECESSED NUT
(W—BEAM) GUARDRAIL | 53" 53"
SIDE A FRONT ¢ Rail bolt hole ¢ Rail bolt hole
8—-FBBO1 FBBO2
, RWMO2a
W—BEAM STRONG POST (PWEO2) ?:1[ Rptee ol —L\* /f g
< ] '
v 4
: RWB01a-/ . ]
1 T
/16" < PWEOZ N~ Ground Line
6)—5” — 1 -
3 ELEVATION
°
i ® ® STRONG POST RUBRAIL (W—BEAM) GUARDRAIL WITH
[ N , RECYCLED OFFSET BLOCK OR PLASTIC BLOCKOUT
¢ x 21/ D] 5D 3 15/16"R (typ.) ® i 4 ® ®
Post Bolt Sot —~T_my (9 R ,
N ) ~— 1 5/ 16°'R (typ) g ~ g C ¢ C+ D %ﬁ (] < %\ No. 8843—C
5 \ NN , N — - 1)
©O 0 THIS WORK WAS PREPARED BY ME
5/ 8'R w I / 5/ /5”! As l 15 / /5”] 9//5"' OR UNDER MY SUPERVISION.
y y \ ¢ y @ @ @ @ R equired T %&)\A&Q&‘ APRIL_30, 2014
AN ” ” ” ” » FUK{)NAGA\& ASSOCIATES, INC. LIC. EXP. DATE
TJ T T AL A A AR Rk HEX BOLT& NUT (FBX16a) ——
Slot (typ.) DEPARTMENT OF TRANSPORTATION
o o /2 STHOMG PO FUBAALL
DESIGNATOR | ZA2E, MEAL 156 1/2” ‘ (W-BEAM) GUARDRAIL
RWM0Z2a 12 Gauge 4-12-13| Delete Graphic Scale |
- KAHULUI AIRPORT
A 2 SPACE W—BEAM GUARDRAIL (RWMO2a) A\ 41213 Delte Bock~p-Prte ACCESS ROAD, PHASE I
/AN |4-12-13| Revise Per Latest DOT Guardrail Details Federal Aid Project No. NH-0380(10)
Scale: None Dafe: February 2013
DATE REVISION SHEET No. SHEETS

ADD. 110




PLOT TIME: 04—23-13, 1:57 PM)

'FED. ROAD STATE FED. AID FISCAL SHEET TOTAL
g 6 ’ .3 ” ' 6 T 5 ” | 6 ' 5 »” [ i DIST. NO. PROJ. NO. YEAR NO. SHEETS
MRS i Transition Section l 4 l 11/16 nawa | waw. | NH-0380(0) | 2013 |ADD. 11| 166
_ ——————————-=—" l -
. ] | 4 b4
o | o °I [ Lap in direction of traffic ° ;L '6} ! NOTE: WEx8.5 l | i
EEEE%WE?E o ’///////==:== A | . '
. e \ | | | All' Holes are Structural
.i? \ PTU0% \_ PWTD1b RWMO2b oy | / 5/ 4 | = =9 /54 ” 5/ 4" Dia. Shope
N Finish Grade ” )
TS| 7777857 ALY ’//Mé//; STEE[_ W/ﬂ SHER 5 7 / 8 2 3 / 8 3 / 4 ”
i * Not to be used for Thrie Beam FOR 5/ 8 BOLT
* connection to structures. o
[RANSITION SECTION _ A N
L—AhH] : © .
L 3 1/ ” o o o — PWED4
6" 6" , Lyl 1/16” 12 1/2 As. ) - \ )
2 1/4 \i\/g 2" |41/ 1/11/2/ ¢ Post Bolt Sl Required ©
S| DINS L :
§ “+>j5/76'ﬁ / lo E / i A
N1 1/ [ = —7—Post Bolt Slot N
C) S TR % Y42 1/2 ©
hi S \\ / =1 Spice Bolt St i ZAL : Cround
) 1y /7 : -/ S 29/92%1 1/87 Sols HEX BOLT & NUT e 5 pobe [ Line
E ; ( g;’s;ancedb%ween Pos;‘ ;\VNMNL T ——
ots and the sum o
' AN Post Bolt Slot Centers (F BX 760) — AN
/ | l> to be designated. 7 T
Z 3/8'R >
/ RNV FAIl SPLICE — Reflector Marker (RM-5) —
st sl 432 1/ SECTION. THRU (e o Gl SIDE FRONT
Bolt).  For details and
BACKUP PLATE o1l FLEMENT 7’3 1/2" notes, see Guardrail
/ N _ ” _ ” Details & Notes sheet.
(RTBO1b) N i vy L W—BEAM STRONG POST (PWE04)
(Use at Posts where (RTMOZb) 27| |4 1/4 [,S/ﬁtf__/, + l -
Splices do not occur) g1 i
2 2" Min. S
. ” . 9| <
Splice Bolt Slot / 2" Min=

Thrie—Beam back—up Plate ~—Post Bolt Slot

DATE

SURVEY PLOTTED BY
DRAWN BY

TRACED BY
DESIGNED BY
QUANTITIES BY.
CHECKED BY

ORIGINAL
PLAN

NOTE BOOK

No.

DRAWING NAME:  C: \PROJECTS\KAHULUI-2011\PLANS\26—-GUARDRAIL DETAILS\B5A.DWG

(At Posts wh 29/32" x 1 1/8” (Yyp.) 3/4" x 2 1/2" (typ.)
Spiice does not ocour) TRANSITION SECTION (RWTO1b)
§ FBBO2
T/
oS R ) 1 1/8° 1 1/8" (Typ) o a5,
A X ATV i m ! IYPICAL INSTALLATION OF |
a. olae < X 5/16"+ |- B :
) AN 4 Y ARG - REFLECTOR MARKER (RM—5)
SN " S i L TS IR 2
HH Vel (s e o 118 Al
Line \ P03 — 2 . ! ) " Mod. Heavy |/ Recess both '(JQA\) ——
SIS a © L / 3/ 8 sides STATE OF HAWATI
y S { —A A DEPARTMENT OF TRANSPORTATION
FLEVATION | s | | DESIGNATOR |1 () STRONG POST MODIFIED
Ay 10 FBB01 1 3/8” “ THRIE-BEAM GUARDRAIL
L ' T - FBB02 2" )
STRONG POST MOD/F/ED 2{ e o LI 77/76” A 4-12—13| Delete Graphic Scale KAHULUL AIRPORT
THRIE—BEAM GUARDRAIL BACK SIDE LRONT ’ ACCESS ROAD, PHASE I
. GUARDRAIL BOLTS AND RECESSED NUT A 4-12-13| Revise Per Latest DOT Guardrail Details Federal Aid Project No. NH-0380(10)
(SGRO9b) SPACER BLOCK PWB0O3 Scale: None Date: February 2013
DATE REVISION SHEETNo. B5A OF [0 SHEETS

ADD. 111













_ PLOT TIME:  04-23-13, 1:59 PM)

DATE

SURVEY PLOTTED BY
DRAWN BY

TRACED BY
DESIGNED BY.
QUANTITIES BY
CHECKED BY

ORIGINAL

PLAN

NOTE BOOK

C: \PROJECTS\KAHULUI-2011\PLANS\26—GUARDRAIL DETAILS\B11.DWG

No.

DRAWING NAME:

FED. ROAD STATE FED. AID FISCAL SHEET TOTAL
GENER AL NOTES DIST. NO. PROJ. NO. YEAR NO. SHEETS
1. Breakaway steel posts are required with the FLEAT nAA Haw. | N-0380010) | 2013 [ADD. 11o] 166
Cable_Anchor Box 5760 Terminal. e QrY. BILL OF MATERIALS
W/5SB58A shoulder bollts, W—-Beam Guardrail End Section |F1303 2. All bolts, nuts, cable assemblies, cable anchors and F5000. 7 ——
/l'\tl/g 5‘% structural nuts, W—g bearing plates shall be galvanized.
washers €am Guordrg , ” F1303 ! W—BEAM GUARDRAIL END SECTION, 12 GA.
Length of nee J ! o P FEE7T J. The soil tubes shall not protrude more than 4~ above
I/Lr/npc;cz‘ , Sz‘ee; Bjreg’kawc;y Line Posts |PB62 ground (measured along a 5° cord). Site grading may A G1203 2 W—-BEAM GUARDRAIL, 12 GA;’ _ _
FEZOO (pos ) be necessary to meet this requirement. 5730 2 "FOUNDATION SOIL TUBE, 6" x 8" x 72
g’;z%ejam Center Section W—Beam Cuardrail End payment for 4. The soil tubes may be driven with an approved driving £750 / BEARING FLATE
— | = A G1203 installation (ea.) head. Soil tubes shall not be driven with the post 5760 ! CABLE ANCHOR BOX
' o Rail exit on -IN ‘ in the tube. If the tubes are placed in drilled holes, £770 ! BCT CABLE ANCHOR ASSEMBLY
2-6 traffic side Ll g the backfill material must be satisfactorily compacted £780 ! GROUND STRUT
L II] X to prevenl‘ settlement. PB620 2 STEEL BREAKAWAY END POST
37'~6" St 5. When rock is encountered during excavation, a 12" Dia. PB621 5 SIEEL BREAKAWAY LINE POST
raight fare posf hole, 20" deep may be used If approved by the 5 RECYCLED PLASTIC BLOCKOUT OR OFFSET BLOCK
A engineer. Granular material will be placed in the bottom ! IMPACT HEAD REFLECTOR MARKER — IHRM(R) OR (L)
PlAN of the hole approx. 2 1/2” deep to provide drainage. The HARDWARE
TRAFFIC — soil tubes will be field cut to length, placed in the hole  B580122 25 5/8” Dia. x 1 1/4” SPLICE BOLT, POST #2
and backfilled with adequately compacted material B580754 2 5/8" Dia. x 7 1/2” HEX BOLT
excavated from the hole. B341004 2 3/4” Dia. x 10" HEX BOLT
6. The breakaway cable assembly must be taut. A locking B581002 5 5/8” Dia. x 10" H.G.R. BOLT (POST 3 THRU 7)
! 2 J3 4 5 6 / _ : - : . : . '
Q_____ 6'—3”——-@<—— 6’~5"———Q—4'—2’Q—4'~2Q—4’—2Q————6'—-3”-———<>><——~5’-—3” Standard W—Beam Guardrail Installation device, (vice grips or channel lock pliers) should be used NO50 37 5/8” Dia. H.G.R. NUT (Sl;l_olgtr'gnl,m%%lzwg)fsz
to prevent the cable from twisting when tightening nuts. NO30 2 3/4” Dia. HEX NUT
7. (R) or (L) indicates right or left Impact Head Reflector W050 6 HGR WASHER
Marker (IHRM).  Providing and installing of IHRM shall w030 4 3/4” ID WASHER
’ be considered incidental to end treatment. N100 Vi 17 ANCHOR CABLE HEX NUT
(AN BY= 8. The stripes for IHRM shall slope downward at an angle w100 9 1" ANCHOR CABLE WASHER
]l T 2 - b, : = \ of 45" towards the side of the end treatment that traffic B140404 2 1/4" x 4" HEX BOLT
X N % ! "9”$ [ crouwp ume || © fo pass. Nor4 2 /4" HEX NUT
Coble B | T 5 Wo14 4 1/4" WASHER
/gﬂchOI‘ Breakaway 7/4” Dia. x 4” Bolt 5740404 SB58A 8 CABLE ANCHOR BOX SHOULDER BOLT
Assembly £nd Post w/Nut [NOT4 NO55 8 1/2” A325 STRUCTURAL NUT
- - PB620 » ”
S760 ' : (8) Splice Bolts & (2) Washers |W014 WO504 16 | 1 1/16” 0D x 9/16" ID A325 STR. WASHER
| g?ou?d Line | | and H.G.R. Nuts |B580122 Foundation Tube Options For Posts 1 & 2
A~ Rail not gltached & Nuts |NO50 *6’-0" Split Foundation Tubes S730
£760 at post 3 Impact *6°-0” Solid Foundation Tubes E731
Head *5°—~0" Foundation Tubes S735 W/Soil
ELEVATION F3000 - * Plates SP600
N *4'~6" Foundation Tubes E735 W/Soil
- N Plates SP600
Black | ‘4 1/3”
IMPACT _HEAD CONNECTING DETAIL Yellow Reflector ' '
» n " IHRM(R,
5/8" Dia. x 1_1/4" 18580122 IMPACT ‘/E@L/%EFLECTOR
w/H.G.R. Nut | NO50 VARKER INSERT
Impact Head Breakaway End Post & (1) Washer | W050 DETAL
F3000 PB620 under Nut only Pecveled Plastic Block E—
ecycie astic ploc LICENSED
) Z?ZONUZL | 507}’ 001/34/6 Steel Breakaway, or Offset Block PROFESSIONAL
Bearina Plat s IR & Washer ficrior A5 £nd_Post Ground Strut j W—Beam Guardrail (o B84sC
g Plate || £E770 PB620
£750 t Hex He’gd Bolt  B341004 w100 E780 Sg‘ee/ Breakaway 5 /8” Dia. x 10" B581002
D B e AT LR — L [Ew e ek 100 & (1) Washer 1050 ZAN T e S R 8
i ex Head Bo Bearina Plate i ' under Nut only '
‘T & 5/ 4" Nut | NO30 E750 g \—5/ 4 ) Dia. x 1 0” _q\ Ze)}//ieg 7\/ BZLO/ZL N0§g47004 A \QQ’M APRIL 30, 2014 |
5 /8” Dia. x 7 1 /2”___ W/ (2 ) Washers | WO30 Hex He’gd Bolt |B341004 W /(2 ) WGSL//76/'S Wo30 FUI{JNAGA\& ASSOCIATES, NC. LIC. EXP. DATE
Hex Head Bolt 5/8" Dia. x 7 1/2" | & 3/4” Nut | NOSO STATE OF HAVATT
B580754 ’ w/(2) Washers | WO30 Yy " | DEPARTMENT OF TRANSPORTATION
_  Hex Head Bolt 5/8" Dia. x 7 1/2
& HGR Nut | NO5O 5580754 Hex Head Bolt HIGHWAYS DIVISION
& HG.R. Nut [NO50 Soil Tube 15730 |—= 5580754 FLEAT-350
~— Soil Tube [S730 & H.GR. Nut | NOSO FLARED ENERGY
- Soil Tube [S730 SECTION BB | ABSORBING TERMINAL
(Typical @ Post 3 - 7) : KAHULUI AIRPORT
A VT VW OF POST SECTION A—A NOTE: RAIL NOT BOLTED @ POST #3 4‘ 12—-13| Delete Graphic Scale ACCESS ROAD, PHASE [
(@ Post £2) /4\ |4-12-13| Revise Per Latest DOT Guardrail Details Federal Aid Project No. NH-0380(10)
PARTIAL_VIEW OF POST 1 Scale: None Date: February 2013
| DATE REVISION SHEETNo. Bfl OF /0 SHEETS

ADD. 115







	107-108.pdf
	NH-0380(10)_ADD.107.TIF
	NH-0380(10)_ADD.108.TIF




